Btfferenz/a/reeimung

"'"c:_:‘ ' t:“'jf;‘:,_ ' ;’ii o
s ;w Ag/yapenﬁjatt?v\bfew gen CRINeED G
o[ 2ur Konstanten-,, Faktor Uﬁd}qﬂ’z" agel Al > :‘“ *"'{

,,‘S

Leve/ 2 Fortgeschr/tten - B/att 1

Dokument mit 71 Al fnahpn

Aufgabe Al
Bilde die Ableitungen mit Hilfe der entsprechenden Ableitungsregel.
fi(x) =05 filx) =
f(x) = 0,5x f2'(x) =
f3(x) = 0,5x fs(x) =
fa(x) = —cx® fi(x) =
f5(0) = yx* Fl(x) =
fo(®) =t>+1 fe(@®) =
f(£) =0,5t* +q f7(t) =
Aufgabe A2
Bilde die Ableitungen mit Hilfe der entsprechenden Ableitungsregel.
file) =+ flex) =
1
00 = 1 f' () =
5
09 == HOE
i) = +7 fiG) =
fs(x)=b""x7% + fs(x) =
e? ,
fe(t) = s fe(t) =
25
fr&) =2 £ =
Aufgabe A3
Bilde die Ableitungen mit Hilfe der entsprechenden Ableitungsregel.
mm=é+6 fi@) =
0, 5
f2(x) = f2'(x) =
b
fs)=_73+p-q fs(x) =
fa() =ax™>+18 fi(x) =
fs(x) = bx~°-17 fs(x) =
fe(t) = e*t™2+ 2,5 fe(t) =
1
fr(®) = 25xt7 + 3 f7(6) =
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Losung Al

fix) =05 filx)=0 f2(x) =0,5x; f(x) =05
f3(x) = 0,5x% f3h'(x) = x fr(x) = —cx3; fi(x) = —3cx?
fs(x) = yx*  fi(x) = 4yx® f(O2+1; fl(O) =2t

f() =05t*+q; fi({t)=t

Losung A2

f1<x>=1- A =-% R = B0 =1y
10 3a

fs(x) = 2 fs(x )——_ f4(x)— s+ 7 f4(x)——x—

fo(x)=b"1x73; fi(x)=-3b"1x* £ () = _2 £(t) = _f
—100x

f(O=— f1(0)=

Losung A3

fi(x) = x2 + 6; fl’(x)=i f,(x) = 5—6 fr(x) = — 1

4b
fs(x) = —+Pq fi(0)=—-—= fa() = ax™% fi(x) = —5ax°®
fs() = bx™% fs(x) = —6bx_7 fo(®) =e?t™% fo(t) = —2e%t™3

f7(t) = 25xt™3; fo(t) = —75xt™*
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